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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more bubbles

will result in zero marks in that question 7
Dak-1-24 12y

Waves transfer -w&/ JB P | -1
Velocity s (D)  Wave length 524 (C)  Frequency £/ (B)  Energy &2 (A)

The spring constant is a2 Eg | 2
. k=-2 () k=-- (O W=mg () F=ma (A)

Which is an example of longitudinal waves? - e g igs Jfé.f:' 3
Sound waves Jg %3 (B) Light waves Jys e f s (A)
Water waves Jg» J Jg (D) R waves Jjgs ¢4, (C)

One bel is equal to @\i\éq_ Az(bel) J L] -4
10dB (D) 40dB (Ck —30dB (B) 20dB (A)

The index of refraction depends on O% 5 4.rn4u" MK, 5T u’-(iﬂ -5
/\l .
The speed of light t¥ Sy (BW The focal length H i (A)
The object distance J-b b’(’; @ The image distance 4 ¥ & (C)

Types of reflection are ) A\Q} -g,arL-"'ngPg’ J| -6
@O 50 4(Q 3(B) 2 (A)

e F S | 7

g (D) % (€) Qv (B) Ve (A)

Capacitance is defined as \@
@y

An electric current in conductors is due to the flow of - Sse LS S Ry | 8
Negative ions F13E (B) Positive ions #7 ¢y (A)
Free electrons 7':/‘?! A7 (D) Positive charges Z. é){ (€)

vf.JxJ:wLw;w J L el H i ey | 9

The direction of induced e.m.f in a circuit is in accordance with conservation of
Charge &/ (D)  Momentum (“‘f » (C) Energy@/1(B) Mass i (A)
The particles emitted from a hot cathode surface are LU uxwaf G35 rf :‘:)g/g <l | -10

Negative ions 1};‘-' (B) Electrons 7’:}?! (A)
Positive ions 7 4s¢ (D) Protons s (C)
Which of the following is not processing ? S‘t;.u.‘r" ..—5:’;4‘}' Ly |11
Manipulating t./47 52 (B) Arranging ks w27 (A)
Gathering £/ (D) Calculating t./04> (C)

-t PR B D L ik g LIRS AT | <12

Isotopes of atoms of same element with different

Atomic number .tk (B) Atomic mass LW (A)
Number of electrons s (§ s 241 (D) Number of protons 1.5 § g (C)
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GROUP : FIRST
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TIME 1: 45 HOURS E'%% SUBJECTIVE PART 21%.© o 45 1
“TOTAL MARKS :48  [E?

Part - 1 Jsl.ﬁmz_,r_)/(/ 48 : 7

Q. No.2 Write Short answers to any five of the following 2x5=10 -2}: 4}’ AR /*"' L iz 5«2 & Jf 2..;;Jlr‘

! Write two characteristics of simple harmonic motion. -i:.‘f:,yr"‘ »u‘éfd’cfr me Jgans
‘ -2:5(,“’}534;{4“/14_8/@"]4‘,5&“ c:..é{J 1.6ms'14;.4H, W;}J‘f?{)-{'

A wave moves on slinky with frequency of 4H, and with speed 1.6 ms ™. Calculate its wave length.

Define the term of vibration and amplitude. w7 G 8 leadl ol G il 9 2o b
Define electric field intensity and write its unit. a8 sy ¥ 25w P et Py

sLySLogd B J”{jryﬂ.—dpl LoF s /9

With the help of electroscope how can you identify the conductor and an insulator ? ¥

What do you mean by capacitance of capacitor ? \'{,:l/[/c. i s J}s‘-’r

How can metal wire conduct electricity ? L rJ}ré..*f‘fJ}gl =Y -V Jd’-f oL
g s Sua Fiz e 30 Vs 0P udE 60 30 20

Three resistance 28, 3£ and 6{) are connected in parallel. Find their equivalent resistance.

(i)

(i)

(iii)
(iv)
(v)

{vi)
(vii)

(viii)

Q. No.3 Write Short answers to any five of the following  5x2=10 A 2’.‘: 47’ NN 4 f'" Lz ég 4.3/ 3../.jdlr‘

Define pitch of sound. How does it vary with frequency ? ?q_(}x de c:.-dli(f b 2y FEE ST
-x0.5m y 380 ms? Le S U1 § 2E e 5K ST

Calculate the frequency of sound wave of speed 340 ms™ and wavelength 0.5 m.

How the depth of sea can be measured by ultrasonic. ?q_.&clg Q@ i e J £ 1

What is difference between RAM and ROM ? Ve OP W R s psa sl o
Why optical fiber is more useful tool for communication process ? TT@J{ 26 AT S L S gaas
¢

)
(i)

(iii)

(iv)
(v)

What do you mean by information technology ? . fe syl e JAER Gdua M| (yj) |
Define nuclear transmutation. ‘ <Q % /\ -2l sl /;Q (vii)
*ut G @%f A164s 8 fho ke bozr § W BE S| (viti)
How can radioactive radiations be distinguish from thei in an external magnetic field ? ‘
J. No.4 Write Short answers to any five of the fo{l?@@ 5%x2=10 _21'-: 4}" =7 /3" Lz é‘t' c.Jf 4./;}!:’
What is difference between telescope and mic &\o})e ? fe 0/ v"f bl .,J; N4 (i)
What do you know about accommodatig S Zh VTt il S ETTA| (i)
- . ]
Define reflection of light and draw ram. - &k (!fw St sl 2;1:..2/’ S sty 5o (iii)
What is difference between step up-and steg down transformer ? S 0/ K L ad) it s A | (iv)

S o b/ L BA SSisa S 5 B 22 b b ¥ 1B

Which device is used for converting electrical energy into mechanical energy ?

(v)

St 2 Wk ek S usid S S T (V)
What do you understand by digital and analogue quantities ? .
_{.J.n ol %’ J::_‘/ 4 J‘f".‘!rtﬁd'if.u r_(jf (vii)
Narne two factors which can enhance thermionic emission.
NAND gate is the reciprocal of AND gate. Discuss. ool e 2K dy 2S5 (viii)
Part -l (224

lote: Attempt any two questions from this part 9 x2=18 -é.(f ..-«U:‘!L Uy 2 c..&fc_ Lo s

4 -.é.sbl.'u (,(O‘:'ﬂ-i)-‘.u a1 OuiSldy J),f; J&g &4 Jb@ {L} (A) 5../1&)’}"

Explain the reflection and refraction of water wave with the help of ripple tank.

5 FUhe2ec/ Vinpgel 158 o Ll o 10V Ui Sy ok £ ¥ |(B)
?Jn‘}‘(vu’.}l

3y applying a potential difference of 10V across a conductor , a current of 1.5 A passes through it.
dow much energy would be obtained from the current in 2 minutes ?

4 & ﬁbk(dlf:’l K3 S sl Z2 MUr Jrfz;)jfii/ (A) 6—;&)”’

1ow radio isotopes are used as a tracer and carbon dating ?

5 ¢ Jor | i S50 17 80dB Jod s € 251 2 Con) oty f 01 A1 |(B)
f at Anarkali Bazar (Lahore) intensity level of sound is 80 dB. What wili be the intensity of sound ?

1+1+2 el (W B LS o e s § P S AU (A) 7-AUir

Nhat is solenoid ? With the help of diagram explain the magnetic field produced by a solenoid.

5 -c’f.g B erl2 sl wJ‘-J;Jél_q,IZAQ Z(u’:.f 20 «r¢15cm i'ﬂ.'.' J!' Jueﬁ‘{fq.lo cm Jg’l J‘ﬂ C ugl (B)
\n object 10 cm high is placed at a distance of 20 cm from a concave lens of focal length 15 cm.
.alculate the position and size of the image ?
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EEg S0 Lt a LBumderev Lz @02 - 4 DoA,B,C oz Fle LoZ ;1 1mli
% -fxu‘aw.rl.?.ufiuﬁe/fJLf.{/sbﬂLf.g:(u:fbuyau{l-’qﬁ.)/:_c& LA S ot
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{An electric current in a conductor is due to the flow of -3 Jﬂg LufJ/al gﬁ/xf -1
Negative ion o7 :€ (B) Positive ion /7 &34 (A)
Free electrons 7281 7 (D) Positive charge tub £} (C)

St unit of electric potential is volt, which is equal to -q'—/.l.a g i;..)u o T11 J"‘Q S 2

‘e (D) Jct (€) ! s (B) JC (A)
U s J_/Jf4/!; ;Lbhlr/f/ly(fufl_hq!,c.uf s J;ﬂfz 7»’01’;&'.—@“.5! 3

If the current in a wire which is placed perpendicular to a magnetic field increases, the force on
the wire

Will be zero Jx}‘ (D) Remain the same un:" J# (C) Decreases J’;-rf’ (B) Increases JL/ (A)

_c.t'fd.v/i/ﬂg Py )?SJ/al_ﬁu:u(w/dl 4
Electron gun has an electrode which controlled the flow of electro -
Screen Qﬁ (D) Grid 3./ (C) Deflecting plat ¥ (B) Anod 3l (A)
Which of the following is not processing ? o m{\/ by q..u.‘.? ...P.u;d’ ol | 5
Manipulating /392 (B) (@% - Arranging ks o7 (A)
Gathering t./ 1 ( QZD Calculating £/ 0L (C)

g gy SAW Ll npboun LS LEH | 6
e

The charge on alpha particle emitted d nomenon of radioactivity

+3e (D) +2e (C) +e (B) -e (A)

Which one of the waves cannot through Vacuum ? ?u:l(jc i u:‘f P r’;’ Py uf -7
T ; ision waves Jgs /% (f (B) Radio waves Jgs g4, (A)
Sound waves Jgs ST (D) Light waves Jgs d u’ wu (C)

q_deJi‘-H-'SJJ Jis é[ilré:dJﬁufJ/‘f I:JH:};JG{ -8

In the vibratory motion of simple pendulum the net force along the string is
mg cos 6 (D) mgsin@ (C) mg (B) Zero (A)
_.bwy»[.ﬂ;y LR A Lo ST | 9

In sound waves the distance between two consecutive compression or rarefaction is

24 ;@ ;B i

—(MU‘OAJJT&IAVVJ|4.3O JIM‘JUJMI.JTgﬁ‘Id:u’gE uﬁﬂ(f(fu -10

During regular reflection of light the angle of incidence is 30° , its corresponding angle of
reflection is

60° (D) 45° (C) 30°(B) 15° (A)

The index of refraction depends upon Te g u'rzll’l b’u“r/b J'(u{il -11
speed of light 1ty v (B) Focal length 5583 (A)
Object distance .L-Wr)' (D) Image distance LG§&!1 (C)

Cnit Bl 417 Bk EUASSH Y L2V S 2 L SF fia| 12

The charge store on a 5F capacitor, when it charges to a potential difference of 12 V is

( - 17C(D)  60C (C) 0.42C (B) 24C (A)
LT LTI '
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| oL | 10" Class 1% Annual 2024 (A, Cans
' msE  SUBJECTIVE PART .0 g s
TIME 1:45 HOURS & Part-1 oo 2> 45 261:5
TOTAL MARKS : 48 DG 22 48 : AF
Q. No.2 Write Short answers to aﬁy five of the following  5x2=10 ..é 4/’ =R /ﬂ Lz ég‘-.df Lﬁ]dlr
g=10ms” Bz el in Fe ik ol L3 K L (i) 10 cnf St d Leti§ R usp syl (i)
Sty Lyl W) EE AV s Laigebiyihn (V) 2§ tr vk K (i)
ey Lo ZE W /S0 n i) 1kWh=3.6M1 _Zed (vii) - & urifulr £ (vi)
(i) What type of waves do not require any material medium for their propagation ?
(i) Find the time period of a simple pendulum 1.0 m long at a location where g = 10 ms*
(iii) Define simple Harmonic motion. (iv) Draw electric field lines for two negative point charges.

{v) Enlist four uses of capacitors. {(vi) Write down the formula of coulomb’s law.
(vii) Prove that 1 kWh = 3.6 MJ (viii) Define Resistance and also write the name of its unit.

Q. No.3 Write Short answers to any five of the following  5x2=10 ..i 4)’ CITY 4 /B iz éﬁ c,Jf S.ﬁ;dly
¢ bl L U 4”fu’rl,fl|.{_ L LOGKUsIn Ui G (i) o bn i UEBINIE GH L 72 2 A1 (i)
& ain Lezp (v) te 041Ut eA sl e (iv) fe B SIS g ot AL nis kgL (i)
e I i Al (viii) Fondzd L@ (vii) T ibkﬂj P! .{:},5{4..’,1' (vi)
(i) What affect has the amplitude of a vibrating body upon loudness ?
(i) How ultrasonics is used to locate cracks in heavy machines ?
(iif) How can a bat locate tiny flying insects in a dark room? (iv) What |@ \efce between bit and byte ?

(v) Write two uses of internet. (vi) What do you kn ut super computer ?
(vii) Write general equation of Alpha (« ) decay. {viii) What is dlffg@ ébetween stable and unstable nuclei ?

Q. No.4 Write Short answers to any five of the foliowing 5}2&&/ -é 2f iz A Lz ég =4S 4 AUy
= ( . o o o
o Pl st I n g i) - & ey IV EBTERIH () -E ot LHELEEy )
L~ C‘frb’/ ..‘;/JAS/JIM}[,( vaO L JI& S et i;{f&.ﬁ-—’?:}gl (iv)
fe ) Y S s u’,;"a _.gmo\ i) Sy S el ut (vi)
ALy £ e o 37 (i)
(i) State the laws of refraction of Ji (i) Define power of lens and write its S.I unit.
(ili) Write the conditions for totalinternal reflection. (iv) Define electromagnet. How many poles it has ?
(v} Can atransformer operatéon direct current ? (vi) Define NOT gate and write its symboi.

(vii) What is difference between analogue electronics and digital electronics ?
(viii) Write the name of parts of cathode - ray oscilloscope

Part =il oo
Note: Attempt any two questions from this part 9 x 2=18 .é /j’ ..,wé..mru c.-é/ R oUl 1S
4 - asg (SHM) Eva J ofr § Uk st i LS [(A) 5-A Ui

Discuss the motion of a ball placed in a bowi is an example of SHM.
5 4 e iU Ty L1 £ 100 pe S1 - 10°V ed f U2y 4 o8y Ll e s S 15 491 |(B)

ey t/.f»b!f‘;uugyw
The electric potential at a point in an electric field is 10° V. If a charge of 100uc is brought from
infinity to this point. What would be the amount of work done on it

4 el B LTI b .ﬁn;g;&_uu..-g (A) 6.4 Uir
it

What do you understand by the half-life of a radioactive element ? Explam with one example

5 SeMnchPLLSE Job ¥ 1.5km et 35cm ol 2KHZ i 7 s a1 ) S b L (

‘A sound wave has a frequency of 2 kHz and wavelength 35 cm. How long will it take to travel 1.5 km

B)

4 -ZE ol {.Jiédfi:}m r:/ys Sut Tq_:l/}/c_ &Lt (A) 7-AJr
What is meant by Nor gate ? Explain it with diagram and truth table.
5 Ca LB e ez s S s TP e 2 5D § # U |(B)

The power of a convex lens is 5D. At what distance the ebject should be placed from the lens so
that real and 2 times larger image is formed .
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b oS
dlb[..,d!w»c.u:u.vibéd—aé’-h’:_dlr/md,n}lﬂ.dﬁc—: D #AB,CelzlLlr, & »1 /dlr

12=4) O4§ [~ —2 s> o

M W gl 1Socir 8L S ML T D ibstie i s fe ot | [io F10 35

Number of neutrons in tritium H3 is q_:lﬂ‘f/:).euf H3 ‘1‘31-}
_ 4 (D) 3(0) 2 ® 1@
AND gate can be formed by using tWo ... gates S FnfbaqusTF e i S U e us
NAND gates u-‘-‘r 3 (D) NOR gates u'?-fjb (C) OR gates u'?-"ﬂ (B) NOT gates ..ﬁ-’ <t (A)
rnﬁjsﬂww‘cgmou)”uv.q_e-:;c/_c,dzég{_LL&,L.W/».—_.G..W@!,L1o C i

Five Joules of work is needed to shift 10 C of charge from one place to another. The potential difference

between the places is

10v ) s5v(@ 2v ® o5v (A)
Electric potential and e.m.f | ‘ ; e.m.f J,IJ"‘S.{J /‘Ql
| Aro the different terms (J///5*3¥2 (B)  Arethe samo terms (/A5 (L1 (A)
 BothBandC (#» C 4 B (D) Have differentunits (Jil®*yZ i (C)
The step—up transformer (‘ g\ o 2V e
Increases themput voltage q.ﬂ”.f 6’ smiee (B)  Increases the@wmmm q_t'b?f e euw(A)
Has more turns @@\cooﬂ wZ_xJEuLJuSJ 16/ l.;J ©)
Has less tums&n}; ndary coil u.TZ..x/G( SJS lfduf(f 1))

In computer terminology information means -pﬂl’b’u" Jﬂdu.‘.'&;'l‘e}).&r

Large data 3nl) (D) Processedji%@u (C) Rawdata &SP (B) Anydata G370

SI unit of e.zz.f is q_.fz SI KIS
NN NC'D) NC@ x'® 1 W

Which form of energy i sound PR AIANTIT P

Chemical J£€(D) Thermal J #(C) Mechanical £ (B) Hiectrical S5, (A)

The relation between V , fand A ofa wave is P sl B pas L3 1t

% M) vi=f(C) fi=v B) vi=1Q)

1024 bytes = we. - L% 41024

1mB (D) 1GB (C) 1MB (B) 1kB (A)

Fax machine is also called ...... i u!qfaf fu"' u’g

Telphone w# (D) Telefacsimile machine #* Fl? (C) Computer Jod (B) Radio g4 (A)

Which type of image is formed by a convex lens on a screen ? ¢ .;_rb,élb’(: v 412; )’-JJE/

Upright andreal 224 (C) Inverted and virtual (f £s0i(51 (B) Inverted andreal it (A)
Upright and virtual Jf 14 (D)

10

11

12
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&1.45= 25 218 0 P
48= 7 | (Pa§ ) ilw OG! k'_‘/ 23 ms;:s= i}\
Q.No.2: Write short answers to any five of the followings 5x2=10 . -ég/’ iz L .!ztéka.uf-dsb» 2 /dlr
Y U SRS IS N T2 2o R J S|

Does increasing the frequency of 8 wave also increase its wavelength 7 If not, how are these quantities related ?
Define spring constant and give its unit LUy PedN by | i

e by ts-e-04m Syl 4 Bz PSS w’:q; iii
A wave moves on a slinky with frequency of 4 Hz and wave length 0f 0.4 m. What is the speed of wave ?

What is the reffactive index of ice and water ? ' Sl IS YT | v
2o PIYIB g L Gom Zb Lng 10em FESISS 1 77 .JE: v

An object is placed 6 em in front of a concave mirror that has focal length 10 cm. Determine the location of the image

Draw & diagram for the virtual image formed in a plane mirror st B Sigatipbf | i
Define the electronics - . ' gE_y j’ J‘l }91 vii

Eaplain doflection of oloctrons by magnetic field _ 2o W Bl eoln S 365 A | vidi

Q.No.3: Write short answars to any five of the followings 5x2=10 .é{f QUI}ZI'.'I& &Uf-d’d(m 3 /dlr
Define Loudness of sound 5,‘! Y Sl | i
What is moant by audible frequency range ? el sk parer | i
Draw electric field lines for an isolated negative point charge g SuS /‘E;L(w L }:E'ﬂr.{ To£t | i
Define capacitance of capacitor and write its ST unit 24 s2yST 61 qﬁ.g }‘:,( A | W

| te bnudlpsttndicbive F ook e /P TP Lt tpip ki |
A charged rod attracts pieces of paper. After a while these pieces fly away. Why ?

. 'What is difference between bit and byte ? f 0L (Byte) L4.41(BI) 2e | vi
| Whatis meant by intemet ? Tei e fi | vii

105 S 300 ms el faledF EjS | vii

=

Caloulate the frequency ofa sound wave of speed 340ms and wavelength 0.5 m A\,

Q.No.4: Write short answers to any five of the followings  5x2=10 - T L1zl LiksEn 4 U
State Faraday’s Law of elcctromagnetic induction e\ O 2T DG e b F | i
Define Electroinagnetic. How many poles it has ? e Q& ) mz_,dgiém-é..y;"! u@?;}gl ii
Define Ohm, Write its symbol / @% Herwfn gy S0 | i
vae&th=-'-:-; : ' u& P=V§ féﬂd’ iv
Write to properties of ¢ - particle & o ..-,yﬁ i ‘f;&.lﬂl v
Find the number of protons and neutrons i lide 13X - ér:"‘:lﬂ&’:).émﬁ%d B 22| vi
What is difference between a cell m}ks : e Jf Wﬂdﬁ/’kﬁ vii
What is atom ? ‘Wiite its two parts J;_'»Lm e 4P | viil
. . (Part ID 5o '
NOTE: Attempt any two questions from this part. 9x2=18 E olnLolyne et o )
4 wlenl IR 42 S ELEE SIS S essbpliBent T | WUy

How can you form images by convex lens with the help of ray diagram when an object is placed at 2F ,between F and 2F

s s, wfelfg” 451,(;?.4,_‘9? 4.9 Lab?ﬁg-;.t'lgl—.‘lk ‘¢-0.99m APANIS ,):Mllr'r..{l (8)

A pendulum of length 0.99 m is taken to the moon by an astrongut. The period of the pendulum is 4.9 seconds. What is

the value of “ g " on the surface of moon ?

4 Zaobsgr B d Lriunie JoHICT 4 T e d¥/ICT | W8 AUy

What is ICT stend for and also write the risks of ICT to society and the environment

5 e llg(1.6X 1072 ¢ e sdpigsp? #E L F5¥naal 100 po togbtily e 35 E | (B)

The charge of how many negatively charged particles would be equalto 100 fic . Assume charge on one negative
particleds 1.6 X 1079 ¢ 7 :

242 o i P 0§ Lnas Poadf 2872 | W1y

Write any two Hazards of Nuclear radiation. Also write any two safity measures of Nuclear Radiation '

ATV Pl LU 5 d AN P e L1 100w, 220V A | B)

5 é{!"’ '(ﬂufdab}( Sl L (930) s -{‘.;

An electric bulb is marked with 220V, 100 W. Find the resistance of the filament of the bulb. If the bulb is used 5 hours

aﬂy,ﬂmmmmmmomummmmedbymmuinmmeomys)
A 14 (Sub) - 1** Annual 2023
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Cws1B= B 10" CLASS - 1* Annual 2023 PHYSICS 7
12'/J L U'J/".-P 0(1’) '—)__-——)_3 YRR ..f:f

du-[..,m.ua.u'u,ibég.,al,[_dw,udkdm_utéq_, DA AB,C Mz ALdirs 2 1Ay

Ao Bzl it cir LSS ..«l’],L/ ﬂU)]blUé—uﬁ.ﬁ:/‘—gﬁ WSS

TheoulputofaNANDgatexs ‘0’ when /Jn 0 -.guﬂ(fufig
| "B=0sA=1(D) B=1sA=0(C) B=lusA=1 B) B=0 s A=0(A)
Which of the followingmnotpmcessmg ? 7 q_uﬁ" -'Er:‘;df 1
Calculatmg I8 ..,ot,u (D) Gathering /11 (C) Manipulating 6/3732 (B) Arranging ko (A)

.;_.an,,ww‘!&/nuuuéu“nww‘é 235-,#4)’..0 |

Durmg the ﬁssxon reactton of 1 kg of uranium~235 amount of energy in released
47x101 7 - (D) s7><1o11 7 (© 77%x101 71 @B 67x10'7T (A

Speed of sound at 25 °C in flint glass is - +4;mezs c utwfzuﬁ
e ' 3980ms” (D) 3960ms” (C) 5980ms (B) 5960ms” (A)

The critical angle of wateris. | | S B
: 508° (D) 49.8° (C) '48.8° (B)  47.8° (A)
Half life of plutonium 23Pu is eI NS 282Pu (2
,Jl.—s 79 % 10° yoars (D) Jiv 7.1 X 10° years (©)  JL-285 years ®) Jv4.51 X 10° yoars (A)

: ez /_lg.n%(u, r’d?utu' %f e uf m.(df J Huuf( ;

If the mass ofthebob ofapendulummmcreasedbynfwtorofS The ependulumsmotionwﬂl

' " Remainthesame ¥t INYY ® ., § odby a factor of 2 ¥Z_lpa%t/53(A)
Be demuedbyaﬁctorof«‘l f(.lnfflf/k Ww«adhafn&mof 2 rd_lfm{lfn ©

Which form of energy is sound ? ( , $ q_r"f’ftﬂixlhlf
" "Chemical J& (D) Mech 7 (c) Thermal J #(B) Electrical J£ 481 (A)

A\ </\v an’ d,q’ﬁﬂu‘ uf c.g)ﬁg,tquﬂuw:ﬁu’r )JJQ’ Y]

Which of the following quantity is m,(@nged during refraction of light ?

Tts wavelength s sed Ly (O Xis direction ({1 (B) Its frequency (7 £8u1(A) |
10

¢ xu?‘)j‘}y‘} ‘U&’J’LU u;»w-q_t'4b/ SnJzs éLLbL..‘d /u::...? \.{l:( Zykﬁ 10C L
Five Joules of work is needed to shift 10 C ofchnrgefmmoneplaceto another. The polsentmldﬂﬁtence

betweentheplaceu
05v @ 2v(@ 5v ® 10V A

¢ (n&f;;f b’u"" i ut:.Ux:_Z'.)J' B¢ 80 oA lfu'" JJJJ | s ..ﬁ::.‘.’:e.if:.&.)z/

‘The combined resistance of two identical resistors , connected in series is 8 (2 . Their combined resistance in a
parallel arrangement will be

The turn ratios ofairansforhaer is 10. It means i.nlo...ﬂd’ u:)?[. /JM}f
‘Ns=7F (D) Is=101p (C) Vs=:L (B) Ns=10Np (A)

20 @) 40@ 80 (B). 1202 A |-

11

12
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&1 .45 = S0 - PHYSICS
48= 7 (Part [) Jile pA J~2~213 L :3‘
Q.No.2: Write short answers to any five of the followings sxa=t0 £y 7elin FL indletditn 2,00y
Define Amplitudo and Time period E 2 hsfeanddd |
What is damped oscillation ? Give its example A Wy Yol /i o U | i
What do you know about Binary Variables ? SUZ LA L KIS 6P T | i
Define Refraotive Index. Writo its formula F oy PSS | v
What is Inverter? Draw its symbolic diagram | Lot /T WSS S D | v
If £=4Hz then find time period (T) | L D keftinream S| v
Draw s labelled disgram of reflection of light e SRS PR | i
What do you understand by digital and analogue quantitios ? SZ R A L3 S ST T | il
Q.No.3: Write short answers to any five of the followings 5x2=10 £/ alis F Ll L ibs By

Calculate the frequency of a sound wave of speed 340ms” and wavelength0.5m -

Defins intensity of sound oy g | 1
: # 0.5m 5&'{:0‘:!34011:3" kd}fv.ﬁéﬂk‘ u I)Jjﬂf i ‘

State Joule's Law and also write its formula

Find the mumber of protons and neutrons inthemﬁdedaﬁ;e@,
Differentiate between Atamic number and Atomic mags

‘What is carbon dating ? Write down briefly KXO
What is the difference betweon gencrator

Describe Right Hand Grip Rule in o determine the direction of magnetic field of current carring conductor

menymbol diagram of Ammeter and Voltmeter : o Aé&\o f‘-’rﬁﬂfwa" deS Kol 1 | i
| - /5/% i S Iy b EelIriz | i
W&ugmﬂwﬁ A 3K el U2 | v
X
6

éwa}uyaé,?umm/_m v
- _ Lol e B | i
tor 7 fe ORIy mpRL | vil

WAL LL S0 er S G P 2020 | i

 Define the electric field AW |
Draw the slectric ficld linos for a unit +ve charge A IS Sy | v
‘What is the difference bctwgendatnnnd;:mmseddah? 2{0}‘;&33,.,«,4,,:@ v
What is meant by silent whistle ? Write down its range FEX e e I nfre | vi
‘What is meant by information tochnology ? € el ol e SHB 0 | vid
What is word processing ? % Sl bsehs | viii
Q.No.4: Write short answers to any five of the followings 5x2=10 _éggz;gwﬂ LizibhevtLsts 4 by
What is electric power ? Also write its unit (O dfunylns ¢ fm S| i

(Part 1) p.0

IOTE: Attempt any two questions_from this part. 9x2=18 7 pLotirne et 2

143 vt SIS e vl WL e S

Explain with circuit diagram to use of NAND gate to make of houso safety alarm ? ‘
5 g=10ms> .éq'{rPJqu-q_t/J’wz 8 AL kbt

A simple pendulum completes orie vibration in two seconds. Caloulate its longth when _g= 10ms™ :

W 54Uy

|

¥hat do you mean by acoustic protection 7 Explainitsmethod 4 ZEeslf MY LU Teit A0
s gpb s ftigdund £ ARl 01m Zigers 08N ULk L2l iyed fiv

The force of repulsion between two identical positive charges is 0.8 N when the charges are 0.1 m apart. Find the

value of each charge

w e Uiy
®

Explain briefly, the two hazards of redistion and two safoly measurcs 4, 2colosl B S 2 Fovaet Pl oSy
Sunds 2000 198 Us LSS U Sie e /b B <t 12V J240V 00wk
5 AN SN BN 1) 2

A transformer is needed to convert a main 240 V supply into a 12 V supply. If there are 2000 turns on the primary coil ;
then find the number of turns on secondary coil

(NY AT
(B)
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2 15 = &y U.'Jf'a" h (f(?.
2=7J et -Gr-23 g topa]

dwéqzuu,u:uubéc_,d.b&du 2 4QVQIZ R E 2D sIA, B, C MR WLy 12 =i

M Wi y‘ﬂu})"di—f Z/ 7 1 LLfifU)/bl bc..( &, Al | fllﬁ Hib35”
1AJlyr
tdnt 2 wher? LS/»-/? sorlpetidses | 1

Wh!ch of the following characterlsﬂcs of a wave is Independent of the others?
~ Wave length ‘qb (D) Amplitude M(f 1(C) Frequency o) £} (B | Speed .0, (A)
.ng*dt:]q. 0.4m "'ﬂpul 4Hz 0) £ )J/)Gm}/ L4 (fb 2

A wave moves on a slinky with frequency of 4Hz and wavelength of 0.4m. What is the speed of Wave?

. 1.8 ms™ (D) 1.4 ms" (C) - 1.2ms” (B) 1.6ms" (A
Which form of energy ls sound? | T 518N Bl | 3
chemical Jf'( (D) thermal f /2 (C) machanlca < (B) electrical % ¥ w |
The Index of refraction depends on? ?4_b'ﬂ4uf Af V‘f{ );uw‘ M| 4
object distanceJ+6L % (D) image distance 46L& (C) s ﬁéﬂgﬁ/t 4,[345‘;’» (8) focal length .21 (W
Capacltance is defined as. /(3%{ \ _4,8(.6{, Sy ,J Jg‘f &‘( 5
viQ (D) Q/V (B) ve (A

/

| {&% o Qs Jwﬁ dz/ t!'»fg sl obLifine | 6

When we double the voltage In a slm;:lq slectric circult, we double the. o .
bothAandB  BulA ) Resistance " 4(C)  Power Jb (B) - . Cument &/ (A

QAﬁ A $33 AT NG U AL | 7

One of the isotopes of Uranium is mugz The nurriber of neutrons is this isotope Is ?

| 338 (D) - 238(C) 146 (B) 92 (W
Transformer Is dsed to change the value of. , ' ,4—[_2’—/,9‘314—&{-&( J* /Ml) 8
Voltage & (0) Power JU(C)  EnergydH (B)  Charge Gug(A)
" Input terminal of NOT gate is. « Ol T §HE Bt e INOT | g
Three ¢£(D) = many s} (C) Two » (B) One‘ S|
. George Boole invented. ' - kIl At | 1C

Geometry (§ 2 (D) Mean Algebra | £ic” (C) Arithmetic Algebra l/lu@’ 4(B) Boolean Algebra I/ldi (0.N]

te ,wdufﬂé.(cms),"‘/ sl mew/ 11

How many components of a computer based Information system (CBIS) has?

6 (D) 5(C) 3 (B) 20
The number of isotopes of Hydrogen is. -&-slal duilr‘f P4 ukl| 1
' 5() 4(C) 3 (B) 2(A)
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&1.45= 5 L0 //0 v
I

48= 7 06 & G- 3y (Parth Uslw

Q.No.2: Write short answers to any five of the followings 5x2=10 & 7clr AL il tdits 240
Describe two features of parallel combination of resistors. .é{/ ..-Lu) »(SMJI _&LJ y27
Write the names of two devices for safe use of current. .é{} (b[.,.-aﬂf@' l:v»gLLdV”to‘MLLf

. e s so bz 1 xad LPGdo st

How Ammeter Is connected in circult to measure the current? Support your answer with reason.

What Is the difference between a Generator and a Motor? \PBEA) IS Y
Differentiate between step-up and step-down transformers. _éuw S p B ISB sl
What Is solencld? State the principle to determine Its polarity. ,éaydfwz_/ r)"é ,g¢é’:s'4.wc!r
Define cosmic radiations and write Its source. _éJ ‘f u’;ﬂ"ﬂéq! ,J dﬁ!d&;;ﬁ‘b’
Define the Half lifs, What Is the haif life of Radlum — 226 ? ?4.?.!6..’4{5226.,!&1&4 Ve JJLJ{ \
Q.No.3: Write short answers to any five of the followings 5x2=10 -é{ Vi Sy d Lmték:,oﬁdicw 340
Define Pitch and Quallty of Sound. £y 881758850

S4-Uupf #_AL..-JWJ}J LS. éab¢4 Y3
Medium ls necessary for propagation of Sound wavs, prove It with experiment.

Define Ultra-sound, write its one use. _é,g ZJ* l«.ﬁb’u’l.é._z A SasL | A

What Is Electron Volt? Write its relation with Joule. _éu’o” aJzbUt eyl F
State Coulomb’s Law, write it's formula. fé\'él 7y 6K u’l;ﬂéd&diﬂd i
Write two characteristics of Electric line of force. Q\g L& 7l S IS
Write down advantages of E-mail. O E7ALSL S
How Is Intemnet beneficlal for us? write about It. {“&WO ,é,/jw-ru’cf el Al |

Q.No.4: Write short answers to any five of the followings_ /(7,)\&\{5:10 _éu’ bz Z Liable iditn 44

Q}S s S Sk e b S e tul oy F St
Define mechanical waves and why these wava;,%?@ pass through Vacuum. .
O\/ .éd kz;,,;vaD’j UPJ’L£!)JJ‘U{£ )uﬁt’dp

Describe the relation between speed, cy and wave length of a wave by an equation.
Define time perlod and frequen 3 _é..u,-’ (5(.(.{1)»!,&4{&
What Is nearsightedness an t can be corrected? ?4(2@[1.-/»6 yi3d (PR YIPAY Y
State two laws of refraction of light. e Inl S )88
What are lenses? Wirite their two uses. B 7Pl 158
Differentlate between analogue and digital quantities. éuyd )u:uuwdf‘-‘ Sl it
Write two uses of digital technology In our dally iife. .é; /’dv”:utuf’»[,&;uyuéd)oécf:‘s ;
(Part 1) /5o
NOTE: Attempt any two questions from this part. 9x2=18 -é{/’ .:UZL.:AV»:.GI e Sos
(1+3) e Ui SN2 S S E oo v P Lyl S | W5

Define Electric current; explain with diagram that battery is a source of current .
& &L 8N Bt b LisFukd e a s st bk | B

Ashes from a campfire deep In a cave show carbon-14 activity of only one-eighth the activity of fresh |
wood. How long ago was that campfire made?

(+1+2) K PPN it gk P L Sl i 2 sl 1 | (A 6/l

What Is flow of Information? Draw a dlagram of communication system and glve function of each part.

s &y Mo Z L LS MUy 2C 4 )% 4 blen 00.03C AN bt Nneis plovs 8 ed | @)
A capacitor holds 0.03 coulombs of charge when fully charged by a 6 volt battery. How much voltage
would be required for It to hold 2 coulombs of charge? (5)

(2+1) 2y /’J-‘-Q o fsbiss S mg ko] esbsei et Ruis s | P A

What Is compound microscope? Draw its rays dlagram and write magnffication of It.
() g=10.0ms? Sl P S £P ol haf sl LBY ki | B

‘Flnd the'time period and frequency of a simple pendulum 1.0 m long at a location where g = 10.0 ms 2.

14 (Sub) -12022 - 60000
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(10" CLASS - 12022)
15= A" wn 0= Fy o

U v’f &f ba
//Lf./u..k-»dwé.,w..m:.u:u,/uic,;aéd'r,,gqu.wig.,D,,tA B,.C eMzbielJry iz
ot b N 20sf s foess S, J_/Q'f “ki S, 4:( UsFomlicndl oo A o fi |
Née-QL-22 ) LA
A straight angle contains ﬁ:_t'x,,:l)g:" <L
360° (D) 270" () 90° (B) 180° (A)
Area of semi~circle is f-?x JMd | ()
2nr O w2 (©) 1‘—1(3) "—L(A) |
The median of a triangle are wl’.nc.llwéuln 3
4 (D) Non collinear H(' # (O Collinear 157 (B) Concurrent £ 4451 (A)
Pomts on the negative x~axis have negative :"...axd) JM{»" d’ (4
Fraction /(D) Value «=f (C) Ordinate 2347 (B) Abscissa L=l (A)
d=\/(=x1)? + (y2-y1)? iscalled ¢ra=(—x)2 + (vp-y)2 |
Equal point b@(sls (D)} Non-collinear points LB;B(Z 2 (© Collinear points Lﬁb‘(? (B) Distance formula $¥_Le6 (A)
Area of z square with side 'S * is cbn 3 'S’ EH2B | ©
§? (D) Q s 4s® s W@
Va = al/® isasurd oforder \/ G Va = al/n (‘M.w ¢))
@p 1/n (© n (B 1@
(a+0) +(@a-by'=1 | 80% “ | (a+bF+Ga-by=2| @
Q@é«%ﬁ (@) a’+b’ (C) -4ab (B) 4ab (A)
Factorization t*~12t+ 36 @@ £-12t+36 27| (9
OV (1436 (D) 6-tY (©) (-6 B) (t+6) (A
Product of two expressions = = /S "VU’V-L.‘;{'” (10)
LeM Jioisis (B) BCF e (W)
HCFXLCM (bl x fidwns 0  HCF+LeM i+ Fioiats (©
I£15>10and 10> P then 15—— P . 15— P 710>P m15>10 1| (11)
> Atz D) Sddetfe (© > elie B) < sbtha (A
Quadratic formala is ¢ FenlaZnn | 12)
Se AT b EDEieegy ShEle g chiWise o
If x,v,z €R thenx>yandy>z = x>zis called q—lju&f x>z & y>z sl x>y Ixyz€R Ji| (3
Transitive property wc’buco™ (B) Trichotomy property el (A)
Muliiplicative property =b}~ (D) Additive property b3 (C)
The orderof [4 7]is 2704 71| (14
ax7(M) 1x1{C) 1x2@®) 2x1()
In figure £ and £b are called v ) aﬂ/ . u?LMLbA'La LJ:tP (15)
~
.—/Zf b
Corresponding angles &-sts Ft3 (B) Vertical angles &35 (A)
Adjacent angles -1 (D) Alternate angles &-stiJslr (C)
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.10 =5 (o) 20 GENERAL MATHEMATICS  (°bs)2
60 = A | Pae-G2-23— bt g/
Q. No.2 Write short answers to any Six of the following 2x6 =12 E e Loz g Litn2 Ay
If P(x) = 25+ 2x*+x -1 , then find P(~2) & P(-2) I PO =2+ 2xP+x -1 Si | i
Rationalize the denominator Zl—\/—g 4—_—7.5 AR AR
Define surds. Give an example 2{::&..{!-2{.4 VA ¢ f 1 2ol iii
Factorize x — 14 + 5x x*—14 + 5x édj.’ iv.
Factorize & +a—3a -3 g +a-3a"-3 ZE(¢7 v
x—1, % +4x—-5 Yuﬁ&:;.df‘:?b’(}/}d/” L?J,C’(&fé(:"’c,dj’ﬁ/ vi
Use factor theorem to determine if the first polynomial is a factor of the second polynomial x—1, X +4x—5
Find H.C.F by factorization 3x’y’ , 126y , 15x’y Wy, 12yt 5%y ek A s | vii
Find L.C.M by factorization x’yz, Xy’z , XyzZ" Xyz, xy'z, wy? g Froumsd | vii
| Define L.C.M ‘ oy S rsbns | ix
Q.No.3  Write short answers to any Six of the following 2x6=12 é/;;’ YAy 4 /’" L.l'].hg:.,uﬁ Jits 3 / Jir
Solve: 2(7x—6)=3(1+3x) (Q@\ 27x-6)=301430 & | i
Solve: VX — 1-10=0 ) © Vx—1-10=0 &£ | i
Define “ Linear Equation ” . Give an example Q\Q@\v zz;de,lg{_y Al | i
Write i standard form. 2x == +3 o (L@ == + 3 FLLY | v
x
Solve by using factorization method X -8+7x=0 @ xX'-8+7x=0 2’.:(;)' SF sk | v
Write in standard form. Find the values of a,bﬁé%)\g =x  Zerredd ab,c szl LL UL 2+ % =x*| vi
Define skew symmetric matrix (\\M 2‘5..9 v d e & | vii
Ry ] P [T A BN L V]
If A—I3 _4] B= [; g} €= [(1) zl then show that: A+B—C= [é _120]
Find the determinant A = [’i _ﬂ A= [-; _?3’] g et® | i
Q.No.4 Write short answers to any Six of the following 2%6 = 12 E el amge Sditn 44U
Write the pair of supplementary angles from the figure é‘ szl Uil }d’ i
g P/
/¢
BE =, ovenrren s MLA= e 3 DABC = AFDE Ji| i
IFAABC = AFDE,then BC = ..., mZA = ......
Define a rectangle with figure 2,@;‘}’ J;lg-.-,r.g Vd it J_’.“/ iii
Define orthocenter é._y }lel}” £l oiv
Draw an equilateral triangle with length of each side is 6 cm. n” 6 é’ A sl Ll | v
Find the area of the rectangle 2 m long and 18 cm wide /% o ISJU‘_QJJI V4 ZJU J2 c’f-:()”‘ ;JKJ:.J‘V vi
The diagonal of a square is 14 om. Find its arca ZEeP FHN A F 15K, | i
Define collinear points o/ Gsa | i
Find the distance between the points (2, 1),(~4,3) (2,1),(-4,3) ZEpb dobohenlsB | ix

(2:'0./3)



”3),‘7

NOTE: Attempt any THREE questions from this part 8x3=24 ZSIrd et on )
Solve by formulas (3£ + 2m)* (3£ —2m)’ G+ 2mP-(38-2m) Z S crsludrh | W-5.AJr
Factorize X -y x -y’ 2@5:(5 £ | 8B)

Solve x+2+/x =15 x+2Vx =15 2 (A)~6. A1
1. 0
' Find the square root of the fotlowing (=2 —4(t+7)+8 ; t#0 ©Q@r""'5/’wb’dibu ®)
| N0
1 NSV
i - = ; = _7. . i
. & 1 ; (aB) BA@ & B [2 0},A[7 8}' r
- ' " | [ ~3] . ~0 t
IfA—[,7 BJ . BB [ 7 OJ , then verify @ A
&
Solve by using Quadratic formmula 10" =0 10x°-5x~15=0 gd’ P38 J J ,.._,5/ 295 | (B)
If A= [1 2] then show that A4 =1 Ala=1 et A=) 2] S| W-s.AUr
i 3 . 1 3
&bl s S e AC s B A #uFE ol B lsmBC =4om ol mAB =3em JAUTEHABC s L | (B)
In azight triangle ABC, mAB =3 cm and mBC = 4 om with right angle at B. Draw a circle through A, B and C
A el 31 P1248 L SEE 2 B3I 36 (ISUASLIA Lt i | (A) -9 Uir
The sides of a triangle are 15 cm, 36 cm. and 39 cre. Show that it is a right angled triangle
IBGA C4,3) #B6,2), AR, S Et | (B)

Show that the points A(2 ,4), (6,2}, C(4, 3) are collinear

108 {Sub) — 12022~30000
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215 = =5 7 PHYSICS 7
12= AF Db, - -2 bg: )
le.fofb}h'?&&fé..,amu/)c..gﬁUJ/IIJZCZ‘,JZ.VZ,J!f/{(éb’(}iz.wé’g.: DsA,B,C @&lﬁj&ﬁdir‘ /£ Al
Crr b zif i L §E TS oM S fuiimtic L oA of |
1LAJy
Correct relation for electric field intensity is ﬁ;.@uv.:.m‘i G"‘y WS /‘91 (D)
E=FV (D) E=FV (©) E=F/g, B E=FQ (A
e dmed B nd £ o ptininls | @
In paraliel combination of resistors , voltage for each resistor is ...........
Equal to battery voltage 4’425’»&)% ® Unequal to each other s1/4Z¢ ki (A)
More than battery voltage upe,é’mfd}:‘ D Less than battery voltage ;f c-@”mf Jxg ©
q.t'!h(ﬂ!nu’ ,ﬂ:l..‘.}/ u.‘.J’lf 4.../»0’( c_.?:(f u{'_ ANy - A £ | (3)
Production of induced current in one coil due to change of current in neighbouring coil is called
Electrostatic induction o*41.&: (B)  Electric induction o1/ (A)
Mutual induction “4182 (D) Self induction #2ik (C)
If X=A'B then X=0, when f:@\o’dz X7 X=AB/J|@
A=0,B=0 O A=0,B=1 (© A=l;§@<& A=1,B=1 (A
The application used to view web pages is called /7 (?l/uutcf;,z&wf BrzS | (®
MS office u" T Ri£(D)  Browser s (%9%% il K& B Email K¢ A
ST unit for radioactivity s /\% ey ST fie iz | (6)
AS AN Bq Jok (O NS 2£¢B) ms 2% (A
Q)¢ e Ui o 23Fel Ans e mtior | (D
When a heavy nucleus splits into ter nuclei , the process would
Release nuclear Sne 634 ¢(B)  Absorb nuclear energy iy i G AL (A
Absorb chemical energy Jn.,azgd}lﬂ (D) Release chemical energy St gake (©
Device used for measurement of potential difference is e STl gl LAl ;esd":‘; (€))]
Thermometer #217 (D)  Hydrometer <% (C)  Ammeter /<4 (B) ‘Voltmeter #2a/ss (A)
unﬁ‘} J-J,'-'/L&'(f /;_ufd,j,,uﬂum,éu’f flJD’ 5 | (9)
Which of the following quantity is not changed during refraction of light
Its wavelength Apdur (O Its speed tdur (B) Tts direction erdut (A)
Its frequency *#£54u1 (D)
| q_Jqu U"’ Jg/':a’&'dlﬁ'é.&dﬂrb@ (10)
 Fora normal person audible frequency range for sound waves lies between
30Hz-30KHz (D) 30Hz-25KHz (O 25Hz-25KHz (B) 20Hz-20KHz (A)
\ Image distance for a virtual image is always taken ednedflid LB 50 | D)
Negative +K (D) Positive £y (C)  +5 (B) Zero j* (A
Sntylpe 04m s¥pn 4Hz GFEpSpdndla7fi | 12)
' A wave moves with frequency of 4 Hz and wave length of 0.4 m speed of wave will be
0.16ms’ (@ 16ms’ (O  16ms’ (B) 0.1ms" (A
14 (Obj)-12021-60000 SEQUENCE-2 '~
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e a5 55 1= ¢ a8=44F A5 e e

(PARTI) Jjl4uas DGK -&(-2)
Q. No. 2 Write short answers of any Five of the following ~ 5x2 =10 25,72z 121 §L e fditn 2 Av
2P O D () ety - K 0.8 Fpnie 4 vz FEApInd I (0 2l O
&, Aeme $IE 372 () oy ASFa ) (D Z AL (o) Jggs’uu,lé..nﬂ(nku/‘f’ i(r)
el LSS (W)

(1) Define wave motion
(2) A wave moves on a slinky with frequency of 4 Hz and wave length of 0.4 m. What is the speed of wave?
(3) Define electromagnetic waves with an example (4) Define Intensity of sound and write its unit
(5) Differentiate between pitch and quality (6) Define critical angle (7) Write any two uses of lenses
(8) State laws of refraction of light |
Q. No. 3 Write short answers of any Five of the following 5x2=10 -Zf.-:{f.pglz/‘."&plzl ég .:,ufd_’}(w 3/,"2_}&'
2 A9 () et n PS5 () @lobn s el P (N § erbiizel b alaln s e O
iUty ek (A) AL AR () 8 VeSS (D ZEuolFEH (0)
(1) What is Galvanometer ? How it is connected in circuit ? (2) What is meant by Electric power ? Write its unit,
(3) Define Resistance. Write its unit (4) Define Electromagnet (5) State Lenz's Law (6) What are logic variables ?
(7) Define OR operation. Write its formula (8) What are Analogue quantities ? Give an example
Q. No.4 Write short answers of any Five of the following 5x2=10 < ~/futb’/"'£’lil ébc:.,uﬁ‘f;bu 4/U!r‘
%Ny,,éj,-,._»wuﬂs/; (" ¢ 4‘{.4! u",rf by q,m/;rf () I;Q)}r‘f Q) Ja_)z.g_uu.//f )rf 0]
Eaodl § ety (© 2lenlogm el gbnbngt s ALK o)
ngwd’ /mcu!/:'uuﬁ -q_l.fbf/lbc_ 6X wrlled 2K (A)

(1) Give the methods for the combination of capacitors (2) two uses of capacitors

(3) What is a capacitor ? Write the unit of capacitanc Differentiate between hard ware and software

(5) Define electronic mail and write at least one Vrite down two uses of internet

(7) What is fission process ? Give an exa ind the number of protons and neutrons in a nuclide defined by 12X

( (PART Il )rﬁ““)
NOTE : Attempt any Two questions from this part 9x2=18 ..25-: ;fa@lﬁﬁowﬂ;c_ékgﬂ/‘ﬂ t s
4 eSS Nl kB L S S o ()5 Al
Explain how the motion of mass attached to a spring is an example of simple harmonic motion
5 Ty jr‘g-,ciryb"uﬂﬁ{jxt/d’;im ce iz $48 12V e & py ol -g- 12 pF 41 6 pF o AT i (B)

Two capacitors of capacitances 6 uF and 12 FF are connected in series with 12 V battery. Find the equivalent

capaitance of the combination. Also find the charge on each capacitor

| 4 afbiwé.&i./?#u‘{ﬂ!&%,séugu}f..@-QL.‘;,{F’J_I,L,}Q.Ut}”):Cg (A)-8 A1
Describe the magnetic effects of steady current through a conductor and write the rule to find the direction of
magnetic field

5 ¢ S PSR, By 5om SL G ne g 10 om 2L LSS (B)
An object 10 cm in front of a convex mirror forms an image 5 cm behind the mirror. What is the focal length of the mirror ?
Define Natural Radioactivity. Describe three properties of Y-Rays 4 éug:.yrid&{m’ = -.4/7&‘213{ '!,ézd/f-. (A)-7 A
¢ S BT L 2 eSS 15 A < Yo .e 10V ‘fljsd-’*;'..ﬂ)t&/}cﬁ_fl (B)

By applying a potential difference of 10 V across a conductor, a current of 1.5 A passes through it. How much energy

would be obtained from the current in 2 minutes ?

I
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12= /J Dqg 62-1_' l/,u:.r:f

Sidionse Qe Lot ne s bsi b L agdfhz-tZzsD M A B, C Wzl g fedlh
Ertsr? wu,.«l.?ufjufqu\;J_f J uBLs'_f 4,( u:/lmyc.-..gl .._éﬁ/! el

’ 12y

¢t/ Sedr” (CBIS) 2 iitaled | (D)
The computer based information system (CBIS) is formed by components

2M 3@ 4® 5 W
What does the term e-mail stand for ? T eSS @)

Extra mail £33 (©) Urgent mail <224 (B) Emergency mail J<¢%,9 (A)

Electronic mail J< 141 (D)

For the curing cancerous tumors and cells is used Ul Lapwl /‘é/:l/'!’ w1 (3)
Carbon-14  14-2.#(C) Cobalt-60 60.:4/(B) Phosphorus-32  32.0.5% (A)

Q@ne-ﬁl 131447 (D)

Example of transverse waves is q..dt}-gf)gs‘ju—’l} @
Water waves s (3; (D) Radio waves g4, (C) ngbm@s #Jo’ 2, (B) Sound waves jpsxiAA)
The relation between time , speed and distance is ‘;_uu ukuéMJ,lJ_’gc:JJ )
Qg\/ =< -©) v=d B v=i A

Speed of sound in air at 25 °C is Q? e BfmTe 25°C Lin | (6)
317 ms’ 356 ms' () 331ms’ (B) 346 ms” (A)

How many conditions for total i reflection are ? .74 )u" Je ,fg' A D
/\\@ 5 M 40 3® 2@

Unit of electric field intensity is S0 | (8)

Nm@® C(€ NC'® NC®
Orrpled & ;«‘-’-}Ja_t,uﬁ;.?,)‘}’ L }ﬁ(ﬁ ©
In parallel combination of capacitors , each capacitor will have the same
Charge and voltage c” 1uni&se (D) Voltage 6” » (O Capacitancc ¥ 01"-( (B) Charge &. (A)
Bz _z;_rxjf':'ucd” enLis Sl nd Lk | (10)
Materials have a non linear voltage — current relationship are called
Ohmic conductors 2Ly (C) Conductors 2 () Insulator 2+t (A)
Non ohmic conductors 22 iast e (D)
| 400l Luds Lol fos parfin fiibogm | (LD
The direction of induced e.m.f in a circuit is accordance with the conservation of
Charge & (D) Momentum (<> (C) Mass vt (B) Energy G (A)
The output of a two input NOR gate is “ 1 ° when ~g+8;f P aqesT ek d_tsagss | (12)
B=1sA=1 (D) B=0sA=0 (O B=1.sA=0 (B) B=0 sA=1 (A)
16 (Obj)-12021-60000 SEQUENCE - 4 D
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(PARTI) Jjjuaa DGR = 62"‘2'
Q. No. 2 Write short answers of any Five of the following 5x2=10 _éf/uuf/"'&m ét c.ufd':bu 2 /‘Ufr‘
ARG STHAE () B e ohenl 2P () &G s Gt (N ZEenl S/ ()
Sy SIS (D ¢ e PSS (D 0.5 m 2Bl 340 ms™! LB B i 20 (0
el LSS ()
(1) Differentiate between crest and trough of wave (2) Define time period and frequency
(3) Differentiate between compressions and rarefactions (4) Define pitch and quality of sound
(5) Calculate the frequency of sound wave of speed 340 ms-1 and wave length 0.5 m
(6) What is meant by total internal Reflection 7 (7) Define principal axis and principal focus
(8) State laws of refraction of light
Q. No. 3 Write short answers of any Five of the following 5x2=10 _.’e_‘:’;/f:aglﬁ/‘?ﬁ'lzl ég c:..‘j.'dizw 3/.’Ufr
Aoy JS 0 () ah el i Al PR (1) Sl s g af P Lasigt ()
& f U\ L 10l L Sdra S GE L it S s (0) By fablr § et P L nute s Tatzetd £ ot ()
ZaJeli il sk (D) 2,/ At Lo lia (&) Ebueriled NOT wzkyfetiaglid L2 NOT (1)
(1) What are non-ohmic conductors ? Give an example (2) Define electric power and-write its equation
(3) Define resistance and write its unit . |
(4) What is relation between input and output power in a transformer > ? Wrj \gquation
(5) Explain right hand rule to find direction of magnetic field in straight nt cérrying conductor
(6) Write Boolean expression for NOT operation and draw sy@% ’ OT Gate
(7) Write truth table for NAND Gate (8) What are analog&/@ i :es".; Give an example

Q.No.4 Write shortanswers of any Five of the follo 5x2=10 :f:_//utli/"zfl]f él,c—uﬁd)bu 4/J!r
2 Il JE81 (1) 25y fnlor JQ;L T AQY ﬂ!ms’wméw/{m’%.f/@ (") 2L dFFA (1)
¢ el 22 (A) éulj{;u"ld‘ k5 ?4) é’f&(nd)}dbL.m}'bd_.uéu‘{/’ (C)Ry q_)yy_fc.(ﬂ)bgu’:ggﬂgﬁw ()

(1) Stdte Coulomb's Law (2) Define Electri tential and write its formula

(3) Write any two characteristics o el combination of capacitors (4) Write two advantages of E-mail
(5) What is meant by Information ahd Communication Technology ? (6) Write the main services used on the internet
(7) Define Background Radiafion (8) What is meant by tracer ?
C (PART I )HJMD
NOTE : Attempt any Two questions from this part 9x2=18 -4 ;f:.«l_,lﬂﬁaulr»céfc,uﬁ.iw D ad
’ 4 eIl S et Ly Tt S ()5 A
Define simple harmonic motion , prove that the motion of penduleum is simple harmonic - motion
5 A e et i 0.06 ¢ (It ire 58 9V 23 (B)
A capacitor holds 0.06 coulombs of char-ge when fully charged by a 9 v battery. Calculate capacitance of capacitor
4 GEeobipUIUeuldl P © e trlpbil (A)-6 Ay
What is a transformer ? Explain the types of transformer with the help of diagram
5 Zpbiic K8 e G0, 115 om BLESELnL izl ¢ 135 em SRS, (B)

An image of a statue appears to he 11.5 cm behind convex mirror with focal length 13.5 cm. Find the distance from

the statue to the mirror. ‘
4 Byhe oyl st auimd LYY 2% 2 L3 st (A7 Al
Write the general equations of Alpha and Beta decay. Also explain the changes in parent nuclide during these decays
e 12 A SE ST bt LundeE 8 G L 50w 2ndl o fL LT (B)
Calculate the one month cost of using 50 w energy saver for 8 hours daily in your study room. Assume that the
price of a unitis Rs 12 L6

16 ([ by 12021 RO0D0O
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n}')ﬁwaﬁ'ﬁy&ylm—gﬂd:ﬂ:éé.:&-b&db’ﬁ{d(db!-u}écz_-) D st C,BA bzl iy © &7
b’mr':'ua._;b? u:,(i‘ﬁ Gd)’J L.f{ y e VLL/QJ(J)/"D b Ll @/-a— uﬁ&):k:(

147

In vaceum , all electromegnatic waves have the same -ug&’f ol ._Qi,t:.,@@/’?lrlﬁut(_{: 1
wave length i@{: (D) amplitude 3£ (C)  frequency ) (B) speed Lr (A)

The loudness of a2 sound is most closely related to ?4.»:4‘/%7’1;.4»’4;-"55»&1 <2
amplitude 124 (D)  wave length }Qp (C) period Lz (B) frequency RE S (A)

Sneil's Law is -5 UIF KJ?' <3
n= sini (D) n= sin‘r’(C) n= sini/sinr {B) n= sin r/sin! (A)

Power of lens is reciprocal of ; -q.;ﬂ{gdl ;:QJA -4

wave length i@t: (D) focal point &I{J} (C) diopter ,%T(jlj (B) focal length ié{f:’ (A)
Electric field linos M ABLD s

never cross each other e okl (B) always cross each other ujG‘);sﬁL okl (A)
cross each other in the region of strong field %d- e i f L tld bl (C)
e pinLigt i wd i (D)

The rate of flow of electric charges is .q..L,’J 5%{&?./'&.6‘-91 -6

O
o8
coulomb w4 (D) oh@ {o] volt &4 (B) current 23/ (A)

cross each other in the region of weak fi

1 Kwh is equal to a4z 1Kwh T

; @@ 36MJ (D) 36pJ (O 36KJ (B) 36J(A)
% | POLY) INE S
increases the input vol trb-zf éud.;cﬂ {B) increases the input current ?rbzf._*;f..z;ut (A)
| has more turns in primary coil q_f&.nx?»&io_ﬂu’?fd/‘y d (©
has less turns in secondary coiluj.’.‘..n/gﬂ)ﬁ;ﬁfd;ﬁ? § o)

The step up transforimer

if X=A-8,then Xis "1' when il T xIx=a.8S .9
AorBisdo , B=LA=0 (B) AandBare 1 B=1.uA=1 (A)
Ais1 andBis 0 , B=0uxs A=1_(D) Ais0 andBis 1, B=1. A=0 (C)

The screen of a cathode ray tube consists of a material called -q_féféq.axdgfd'jfbgq;&vx’ i3 10
' : v glass .2* (D) phosphor j;"li () iron T (B) zinc £ (A) _
The brain of any computér system is : q.&:l’("/ k;{lfr ‘Uj -11
control unit 2¥Js¥ (D) CPU JJu(C) memory Yut (B) monitor /v (A
ISt AT 1 B8 LT iy 12
One of the isotopes of uranium is ZggU . The number of neutrons in this isotope is
| 330 (D) 238 (C) 146 (B) 92 (A

\
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a5 28 1= S ¢ as=AN Lo GROUP FIRST iy s/

DGR-10 - C;’- Ay (PART [} Jyl4san
Q. No. 2 Write short answers of any Five of the following 5x2=10 -é;/’..-,uz/"‘z:amr 6& c:.uﬁJ_JZw 2 A

? & Fredtel Silwra it LisiPh (0 ¢ qES LIS ESTEA O

B0 J¢ 332 e E g aFue S0l s LU e tie BB IE 1.5 o 2 SLSIGSE ST ()
i Sy plid Fobs s2 it TS AP s w2 (8) ¢ LSS Pt S ()
Wl S p Bt p s N el P g e Pt (&) -erbnslf Shrbrp

{1) How can you reduce the level of noise pollution? (2) How the depth of sea can be measured by ultra sound ?

(3) Flash of lightening is seen 1.5 seconds earlier than the thunder. How far away is the cloud in which the flash

has occured ? Speed of sound = 332 ms-1 (4) How shock absorber damp vibraticn ?
(5) Define restoring force in vibratory motion of simple pendulum , which 6omponent of its weight acts as restoring force?
(6) Write any two important features of simple hormonic motion.

(7) What is meant by far sightedness and how can this defect be correced? (8) Why convex mirror also called diverging mirror ?

Q. No.3 Write short answers of any Five of the foilowing 5x 2 =10 -?,g(/a[,lz/":‘&@mr g& c,u.td_';(,,, 3 /f;d[y
T e TR i (1) ¢ L salats 22 2U% 1000 (F) 4@;’& I () 8 PR A AT
? OIS BNt (N Se e Pt () _afliined () ek vz (0)
(1) What is meant by dielectric ? (2) Define a variable capacitor. {3) How many watt-hours are there in 1000 Joules 7

(4) What is the difference between a fuse and a circuit breaker ?

@)
(5) State Joule's law .Write down its formula.(6) State Lenz's law. (7) What is me@ﬁ,ﬂﬁ/term Mutual Induction
(8) What is'difference between step-up and step-down transformer ?

<o
Q.No.4 Write shortanswers of any Five of the following ﬁ/\ cf{/{..u?/"z,u Ul &tcuﬁ‘):bu 4/Uir
S ferme YL 37 () e E A saS Pt M of (1) ¢ & G2 DAC .t ADC (D
-é{fub}iﬂJ (ﬁ))’;tl’#(é) Ya.vl/lf:.. &%)-i{ﬂ( V‘QK-' 0y q_Q’U’" fp (8) q.J/k(u:/‘JJLw'fw& (]
te OV AL busl 2 L8 (A)

) Name two factors which can enhance thermionic emmission.

(1) What is the difference between ADC and D
(3)Write any two uses of cathod ray os e. (4) What is difference between hardware and software?
{5) Define fax machine.Write its fun Iso. {6) What is meant by nuclear transmutation?

(7) Write two characteristics of Beta {B) particles. (8) What is difference between atomic number and atomic mass number?

(PART Il ) £33 Ao,
N'OTE : Attempt any Two questions from this part 9x2=18 -2{ {fa&lzéaulnmdfc_u‘-’.&m e

4 ;Jn;d:‘[-f‘rgfﬁ,i;»,uvfz{ab,taﬂgﬂ!f,}g.,u (A)-5 Al
Define simple pendulum. Prove that the motion of a simple pendulum is simple hormonic motion.
' 5 : e TIR e t B nS Fecrtzle s em SN SHA L (@)
A convex lens of focal length 6 cm is to be used to form a virtual irhage three times the size of the object,
Where must the lens be placed? : '

4 -Efﬂlurﬁb’gf* hd:l.vwléukeby‘;utl)g,()/‘f)n‘.‘:bz‘ic&.)g 2 {(A) -6 /.Uly

Describe the important characteristics of the series combination of resistors and also derive formula for equalent resistance.

5 - ptenSnizdndn wHerl L Epdeil 150 cm g, = Spc 4 Q1 =10 pc Zpsdlyn (B)
Two points charges q, =10 pc and q, = 5 pic are placed at a distance of 150 cm -What will be the Coulomb's force
between them ? Also find the direction of force.
. ae%té ABIFS St decto ot JEAL e 3012 e SRS DS Skt (A) -7 A4

Differentiate between analogue and digital electronics. Write down the names of two analogue and two digital
electronics devices used in daily life.

4

5 Voo LLignf € 18 s SiraS 1a-ct o Ju 5730 SopS 14-00 (8)

Carbon-14 has a half life of 5730 years. How long it will take for the quantuty of carbon

14 in a sample to drop 1/8
of the initial quantitiy ?
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.71;:.1;»&w&.,m.-mc,u:u,;uéz__g,w:‘Ju«MQs’qu-u_rz.f.z.., D 4l C,BA ezl vy
Gt i2 - s “_J.’(/..‘a 1 L/Q:(J:}f)uhic.--g- 4‘3/.:- g,fﬂ/CL:{

The formula for the time period of a simpie pendulum is. Uikl o (L’{.Lﬂu‘; vl

T=2m \][;’i; (D) T=2m J% (C©) T=2m J_é (B) T=2m J%—(A)

'The loudness of a sound is most closely related to its ' \‘q_tn{;/}uybw"wéﬁ ulEse
amplitude 3% (D)  wave length ;% (C) period £ (B). frequency¥E/ (A)
A f st LS spinmd FEUEG
Which of the following quantity is not changed during refraction of light
its waveiength )éf-_’: Lf' .(D) its frequency 6*:{)1,6 (C) its speed é»,‘(ﬁ (B) its directionc/gf' (A)
Index of refraction of ice is 9..d:§)/dfu-r.’al¥d4
1.36° (D) 131 (C) 133 (B) 1.00 (A)
A positive electric charge _ . /::bzg_f).al;&){ L
repels other positiv'e charge ﬁ:.bf d;f (wgu‘c/‘g (8) a‘ttracts other positive charg q.tfu‘";( ('S %33 (A)
repels a neutral chargeq..bfé:f(yfl,'djﬁ (D) | attracts a neutv@:rge q.t:/u“'{( (7' U2 (C)
| ik e 3 WA LEE B Ak
Why should household appliances be connected in parallel wi QB y\cfltage source?
to increase ru:e of the circuit 2L bz udesy (A)
to decreasp, esistance of the circuit &L Li /AU L (B)
vol age as the power source g’_ﬁ‘(__:gu&wru&fflgm (C)
me current as the power source .;'..Lg.;.:if iﬁ'zw.mgfgf"’fglﬁ (D)
.;.méu)«é;w;?c,f#/rax; waefpul 68
resistor when 3A of current pa?ses through it
36V (D) 18V (C) 9V (B} 2V(A)
UAEGIL S 7 Len S Slngg e fminds bt LI EF N
If a current in a wire whicﬁ is placed perpendicular to a magnetic field increases, the force on the wire
will be zero J;f/‘ (D) remains the same JnuﬁU_i(C) decreases Jx{ (8) increasés JLZ (A)
The particies emitted from a hot cathode surface are -‘,g!..w&xb/c; UJJF*’-}[N%&:’:J
electrons ‘/';}-?I (D} prc;tons ﬁ:{ (C) negative ions ,:’Tgé (B) positive ions % Tf:){ (A)

to provide each appliance the san

to provide each appliance

What is the voitage across a 6

1 X=A-B,then Xis "I when : ety U X I x=A-BS
Ais1 and Bis 0 (D) Ais0 andBis 1‘(C) AorBis0 (B) AandBare 1 (A)
??vu;fgub’ u’:g! g»_um../wyuég:;,,».'; [l

Which is the most suitable means of fast communication between an orbiting satellite and earth?
any light waves /'{n.‘/’uf Jf (D) sound waves Jf»£§L- (C) radio waves Jgsg.Ls (B) micro waves Jgs A {A)
=JU fl,‘—bf(? bt&l_)’iL:{»gﬁ’;{{dM Ll

When a heavey nucleus splits into two lighter nuclei ,the process would

absorh nuclear energy ufn vi(&ﬁ/"fi (B) release nuclear onergyd;fezﬁ&)f/'-:':é (A}
absorb chemical energy Jn ylg&}ldé‘{ (D) release chemical energy Jn(wl;d.)lgﬁ‘{ (C)
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Q. No. 2 Write short answaers of any Five of the following §x2=10 '-é(/’.:,wz/?é..-.my & eLSits 2 A
fe sl e (SONAR) Jbr (M) &yl wiif () -E;‘?‘tﬁuiﬁ- S Sags D (1 Ay B
-e“.—,uma.’.vﬁu?mg (W) Seslpenfkihys (€ s Sl e Jo s ZEWASES T (@)
(1) Define’ wave motion. (2) Write the names of four examples of electromegnatic waves, {3) State Hooke's law.
(4) What is SONAR? (5) Dofine pitch of sound. (6) What is meant by sound intensity level ? Write its formula.
(7) What is meant by resolving power? (8) Write uses of compound microscope. _
Q. No. 3 'Write short answers of ang; Five of the following 5x2=10 -&fa&lﬁ;ﬁﬁauw ég ;,U:J_'jz.,,, 3 ﬁ{);,
oS S B LA () S E S SR AL e JAL AP Sy Y SO
1 kwh = 3.6 MJ ,faﬁ:-f.v (@) ..g;)"d&@bL/fc—gﬁulié.{gpﬁzc-u’/&uf/)/ fut K 1 S LI ()
_g{ugdﬂs{igu:'t,(z,/r}ijé‘J&?LuLn L AW/l (A L U TEA (&) ~ZEgler ¥ SPHE 2553 (D)
(1) What is meant by capacitance of 2 capagitor?
{2) How can you identify conductor and an insolator by using electroscope?
{3) Why dées electric current can not pass through the insulator ?
{4) if a battery of j‘!O volt ls connected across the ends of a resistarice of 10 k-S%~.Calculate the current pass through it
(5) Prove that 1 kwh = 3.6 MJ . (6) Write down the working principle of a DC m i (7) State Lenz's law
{8) State the right hand rule to find the direction of megnetic field produced by a due to flow of current.
5 :ﬁ;ﬂwuﬁ Ly é&:..ut‘[szw 42
VZE 3 PSed ot (V) S e ot Faadsh ()

Q.No.4 Write short answers of any Five of the following

S IIE LS () 22
&

(4) Write names of components of ter based information system (CBIS)
(5) Define cell phone. (8) Define the term half life. (7) Write down the two uses of radio isotpes.
(8) Write general equation & an example of alpha decay.
|  (PART i ) p g3 Auan
NOTE : Attempt any Two questions from this part 9x2=18 ..2:'.1: ;/’,.-.,ymﬂammg,é,@,‘;yw N
Define mechanical waves and explain its types in detail. 4 _éﬁ’dgc.dzjl?ﬁl&/whg{.y j{f){,ﬁc (A)-5 ,}U;,
5 ?ﬂg}’bé f (52!7;)4:.:/&?.(;“)' 2 Jf/f LBU;{J-'E‘Z/(,;.A 45D /:&J}:’Jgf.,g B)

The power of a convex lens is 5D. At what distance the object should be placed from the lens so that its

real and 2 times larger image is formed?

2 sl MZEYWITE IR (A)-6 A

State Jouls's law and explain it. 4
L pradSuidpnl g - BLS BrceihS 0.4 N s prrLlosIuney ¢&26L 5cm w2 Zlens (B)
5 -WZLJ £ &6 2em St

Two charges repel each other with a force of 0.1 N when they are .5 cm apart. Find the force between
the same charges when they are 2cm apart. Find the value of each charge.
4 e i) o coti el e et (8)T A
What Is NOR gate? Explain it with its symbel , boolean expression and truth table.
5 0 iullotis J160 - Dt £ Jir 26 ¢-Jb 5255154 60 - 2 £t (B)
Cobalt - 60 is aradio active element with half life of 5.25 years. What fraction of the original sample

will be left after 28 years
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Ifthe length of simple pendulum is doubled its time period will be. o oI I f S S o
| I 221 © F ® V2TW

V2
Which is an example of longitudinal wave (_JL‘anJsrf )
Water wave m,(dk (D) Sound wave s S (C) Radio wave 874, (B) Light wave nJ 5 (A
Exdnicsp S
real and inverted £ (B) real and erect J’-mtu-,y (A)
Virtual and inverted J 2.:.s% (D) virtual and erect S 2s1.904AC)

The image formed by convex mirror is

Which of the following is not changed during refraction of light ? ednot J a4 S S M L SEEAST 12

wave length  #*y; (D) frequency w£/(C) speed (B) direction =~ (A)
Q@ I

3 uF (D) 1073 pF (O @ uF (B) 107% uF (A)
S 25 AT S ALL e re g ir L12V
What is the power rating of a lamp connected to a 12V hen it carries 2.5 A
60 @) 3IOW (@ 145W (B) 48W (A
v 3ty cdv LS8 10V L7l 4K Q . 6K Q
K Q and 4 K Q are connected in series across a 10V

One Farad is equal to

< u’./ JaSsls
The equivalent resistance of two resis

battery
Z KoM Zgxa © 2k0® 10KQ W

A device which convert mechanical energy into electrical energy . -.;.L*/ JEL Sk A d./’u?:( 2.7
Electroscope .;:ﬁ % (D) A.C. Generator /25« (C) D.C motor/»ys¢; (B) transformer a7 (A)
The mathematical notation for AND operation is cezbdod L2y (AND) Sl
X=A.B (D X=A.B(©) X=A+B®B X=A+B (A
P& S S S pe S L ip s
From which of the following we can get information almost about every thing
internet - *1 (D) computer /»Z (C) teacher ;&1 (B) book U (A)
In computer terminology information means AL I
Large data (3.t (D) Processed data iz (C) Rawdata (37¢ (B) Any data LSfdS (A
PR TN PUg ALy
One of the isotopes of Uranium is *** Uy, .The number of neutron in this isotope is
330 (D) 238 (O 146 (B) 92 W
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P

Q.No.2 Write short answers any Five of the following 5x2=10 ( éfa&lzﬁﬁewr égc.u‘-’J_sz) zﬁ.dlr
Define restoring force in mass-spring system. 4{—4’/“{; 52 -—6:"‘-’4)5("’ g
Define diffraction of wave. 4;5’%:;{)5&!’ r
What is the difference between frequency and pitch? -4‘)#&3/.\;3/”0'.' I/ r
Define " Echo " -4:4/1( (Echo) éf f
How we can reduce the Noise pollution. N4 £/ @-’(‘l{&ﬂ&; B
What is difference between D.C and A.C feJYL (AC) e 4 (DO) UUS !
Define e.m.f. of the source. -4—&'”—&"#’6‘!! Jir | &
Define Kilowatt hours. -4!—3.‘/’.{/(/’7*"’( A
Q.No.3 Write short answers any five of the following 5x2=10 (éﬁ&m/éa Ul ék:——cﬂiilw) SX.JV
State , laws of reflection of light -éf:—é’ﬂ;uﬁ ';éd'pj i & |
Write two uses of optical fiber -4{’1)9""”!4&/ GJAT | r
Write down the definition and units of Power lens. -45]"'..'2(2!/:!4(_!/7‘!}2_57»5 i
What is the use of Electroscope? -ea Jlf""’(-(’c!/'? i’
Define Farad _ad LA | o
What is photo phone ? "{—P’L‘J}” A
What is difference between Data and information? /;CSA\ v+a)g¢ﬁWnJ,:&3 “
How are light signals sent through optical fibre? ' (M.‘.’.Aﬁ/ G T A
Q.No.4 Write short answers any five of the following 5x %M\O(&fa&lz/‘yﬁawrﬂa‘ﬁd 3lss) 47y
Define mutual induction. (h ' -&ﬂ{ﬁ’cfr :
What is transformer? On which principle it works? @\\\!}b ?9!7?5’{‘);‘&[, t 4.5[//LV'U ¥
What is AND gate ? write its symbol. A <®gu -J =St T {—k(-‘/.( |7
Write names of two parts of cathod ray osqj@ape -éftﬁuﬁ)ﬁ ..r:c:blz_dﬁ-( 4
o >
What are logic states? /\(@) sur YUeig|®
What is meant by nuclear transmutation? ?i,:ygf‘:,u’fnﬁ)ﬁﬁi Y
Describe X -decay. 4 A 4(90:;{ Zysw |4
Define fission reaction. -44/7&{0:{‘6/(&“ A
(PART Il ) pgd dsmmn
NOTE : Attempt any Two questions from this part 9x2=18 quf.apzl.ammadfc.gﬁ.»w rd
4 e QAL Cun SAL P L) o lnle e P8| (a) s
What is damped oscillation? Explain how damping progressively reduces the amplitude of oscillation.
5 g;Pﬁﬁd?JAﬁ »#10cm Jdl.ic.}’.'b’é'dbéc—ﬂi.kbg{ &GZf(;c_){q_ 15cm i@JIJ)f-‘z‘ECg (8)

A concave lens has focal length of 15 cm. At what distance should the object from the lens be placed so
that it forms an image at 10 cm from the lens? Also find magnification of the lens.

4 Gorbnd clrtilSinaz - NV L2lp | () 6
Describe the parallel combination of .capacitors. Also explain three characteristics of this combination

5 febre /Bt tlL 108 tyosC Laffi| @)
If 0.5 C charge passes through a wire in 10 S than what will be the value of current flowing through wire?

4 -4’.-»;;,4..,«,;;»»'1.3:@’-1@:,,1&..»;: ¢ q_,w&-..aaﬂ (A) -7
What is internet? Internet is useful source of knowledge and information. Explain.

8 -%kﬁiﬂnf Seavia el ISt (B)

IWhat are common radiation hazards? Briefly describe the precautions that are taken against them.
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12= S E o 2016-2018 b 20152017 : P (L
Shdois 3t Qe Lo 2 zr e U i eosie LJir qum-wéé.; DsA,B,C szl ldiry  i2bi4
€072 ple ) 2008 h Sz /. 4/ P 4[ Ustmbiekl -2 A el
| LA
Formula of Hook's law is. -§-sz‘55’00"{ 1)
x=-Fk ) K=3 (O F=-kx(® F=i W
The critical angle of water is -q_r)ﬂﬁ“ﬁj (dg (2)
46° (D) 45° (C) 49.5° (B) 48.8° (A)
The speed of sound in air at O °C is e Lty 0% | (3
3g6ms’ () 327ms”’ (C) 346ms’ (B) 331ms’ (A)
The speed of light in glass is -4.¢{Jd’u Lat | (@)

3x10ms” (D) 3x10 msl © @p ®) 2x10°ms™ (A
d%%@ o~ rw SI 7111 yuy»[.hb»/

If the madium between two charges is air then the value of K in SI system
9x10°Nm*? (D) 9x10° (© 9x10°Nm’c? (B) 9x10” Nm'c” (A

S.1. unit of potential difference is @ -e-fy 81 KJ’L-/'iJf’:.‘g
. gf%ﬂ (D) Farad 47 (C) Volt 2 (B) Ampere /5% (A)

$.L unit of resistance s - ey SIS
watt Lfs (D) obm (% (C) Volt 2/ss (B) Farad 12 (A)

A Temporary magnet which causes to flow current through a coil is -aa.;s(fq’i.f_..ff‘,t‘flf.ﬁ?._-i&u"’k
Eloctromagnet -5 €1 (D) Magnet £ (C) Electric intensity (== 1J/*¢/(B) Magnetic field &} _&E* (&)
The components of cathode ray oscilloscope are B 01— L..;:C dosiessid
| 6@ 4@ 3@ 2W

What does the term ¢-mail stand for ? . | | te L S Yl

Emergencymail 574/ (B)  Extrmmail <121 (A)
Rlectrical mail J< K 291 (D) . Blectronic mail J<' 61,4 (C)

Graham bell madc & simple telephone in ‘ AbstoS ikl JFmS
| 1876 (D) 1886 (C) 1870 (B) 1867 (A)

Number of neutrons in tritium H:{‘ is _ q_ﬂﬂJ‘)’/'fgﬂ Hi’ f-‘-/‘
5 4 3® 2 W
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(PART ) d,lm 2016 - 2018 \J 2015 -2017 ¢
Q.No.2 Write short answers any Five of the following  5x2=10 (4{(};&'2/‘.31;0!:’ éL r..‘ﬂdibn
Define two basic types of waves . Ry ’q{_a/"qfru'id:g»&p I
Differentiate between vibration and frequency . T, 'bm\b < ) e IV SR S | Y
1

Differentiate between ultra sound and infra sound. ' £ (\-),/\ ?q_J/'g‘;iSw}"lul}iw/l r

Se GHL AL | 7

Differentiate between musical sound and noise.

te V&S Hlerrodurdor| o

What is range of sound intensity which human ear responds.

-%yu)a‘b’dz 1

State Joule's law.

- & /:-,blzgfbﬂ 4..4 ﬂfuk-f/‘? I &

Define electric power and write its equation.

L Sl AL | A

Write the two smaller units of current.

(&8, fe2 P2V e S 3n)

No.3 Write short answers any five of the following 5x2=10

- %QJMIMJ’:’U /;6( !

State difference between concave mirror and convex mirror.

sespe #EIIS S A | T

What is meant by focal length of spherical mirror?

= Za cy ULJ"»L.‘;;:; Lf?l{ r

Write uses of compound microscope.

ik te i e e/ P9 | ¢
q—

What is meant by electric current.? Write its formula.

-ZU&UW'::L)'{ o

Write two uses of capacitor.

What is meant by information? /ﬂ(&\ \‘+:l/l_fc_¢f-zh?l 1

What is photo phone? @ : ?4.\[@}1‘} <
' <O » ;

What is differrence between hard-ware and soft-ware? S {RAQ\ -eduMz:_'Jlmlkﬁ/; A

No.4 Write short answers any five of the following

é{(f.;«uzf'?éauvél‘:.u:i s 4 /‘Uly

sl 2o | |

5x2%
N
What is meant by mutual induction? M
i

What is meant by armature? et FAT|Y

Write the uses of logic gates.

e
@Q _AewAllr

What is th; function of grid in gun? ?+g=6g(5/¢dfg,;94 ”

N\
e -Gy NoT o

Define ' NOT ' operation.

What is meant by Hard disc ? ¢ q.)l/l_/c..ﬂﬁz} 1

What is meant by tracers? ?q.:l/l[a,iﬂ.} &

Write two common hazards of radiation. -2?{9;.-.%5(& wl SISL | A

(PART Il ) ps2 deman

@;f:’&‘ﬁﬁca U’rnc_ljfc.uf/?‘jl ‘d

NOTE : Attempt any Two questions from this part 9x2=18
4 g}/{;f Gr 1t FEL o Los - S loste sl e S| (A)-5
What are damped ocillations? How damping progressively reduces the amplitude of osscilation?
5t PGl g tygdiL 20 em g 15 cm S8 A T 10 em dgndidl| ()
An object 10 cm high is placed at a distance of 20 cm from a concave.lens of focal length 15 cm.
Calculate the position and size of the image
4 S LniLfoed ISyl Fign| (-6
How would you define potential difference between two points? Define its unit.
5 & e U AL 250V {aLd 4 kwal K100 watt | (B)
SIS hpoml e () 2 Siné Ui ()
A 100 watt lamp bulb and a 4 kw water heater are connected to a 250V supply. Calculate
(a) The current which flows in each appliance. (b) The resistance of each appliance , when in use
What is electronic mail ,write its threg advantages 4 éégk b;’GJﬁJ@.g‘ﬁ.ﬂf'?l (A)-7
Nefine Niielear Fusion also explain in detail 5 gyu:ll.“"ﬁ 4:4’/‘70(0?’3/:’2 [(B) J
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